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If ¢ is positive,
the force on
the test charge
qo is directed
away from g.

For a positive
source charge,
the electric
field at P points
radially outward
from ¢.
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For a negative
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the electric
field at P points
radially inward
toward ¢.
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For a positive point charge, For a negative point charge,
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The number of field lines leaving
the positive charge equals the
number terminating at the
negative charge.

N

(The locations A, B, and Care dis-
cussed in Quick Quiz 28.5.)

- .
\ Figure 23.21 The electric field
\ lines for two positive point charges.
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